T R27E3A4H
RRENHA R

BEF—RFHREEM
BIERSHRE—2OERREEICETHBLEANRHL-KEHE

3 Sl

ARE=4 BRE=#4
R | Grael [fj”{g“%] E=4ERIE L Co E=4ERIE mateES
) ) [Ba/L] [Bq] [Ba/L] [Bql
2/22 8:50 (9:20) 27 44
2/22 9:00 (9:30) 8,800 35 7.0E+04 28 0
2/22 9:10 (9:40) 8,300 34 5.7E+04 69 2.0E+05
2/22 9:20 (9:50) 7,800 458 3.4E+06 405 2.8E+06
2/22 9:30 (10:00) 7,500 1,880 1.4E+07 1,760 1.3E+07
2/22 9:40 (10:10) 6,900 3,660 2.5E+07 3,870 2.6E+07
2/22 9:50 (10:20) 6,300 5,050 3.2E+07 5,630 3.5E+07
2/22 10:00 (10:30) 6,000 5610 *1 3.3E+07 6,810 41E+07
2/22 10:10 (10:40) 5,900 5,560 3.3E+07 7,230 4.2E+07
2/22 10:20 (10:50) 5,600 5210 2.9E+07 7,060 3.9E+07
2/22 10:30 (11:00) 5,600 4,630 2.6E+07 6,420 3.6E+07
2/22 10:40 (11:10) 5,900 4120 2.4E+07 5,830 3.4E+07
2/22 10:50 (11:20) 6,600 3,700 2.4E+07 5,240 3.4E+07
2/22 11:00 (11:30) 6,300 3,400 2.1E+07 4,860 3.0E+07
2/22 11:10 (11:40) 6,000 3,040 1.8E+07 4,330 2.6E+07
2/22 11:20 (11:50) 5,900 2,680 1.6E+07 3,910 2.3E+07
2/22 11:30 (12:00) 5,700 2,480 1.4E+07 3,480 2.0E+07
2/22 11:40 (12:10) 5,700 2,270 1.3E+07 3,200 1.8E+07
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